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QUESTION 1

Which of the following is the function of the WLAN Survey Pad?

A. AP photo and antenna pre-installation location photo

B. Wi-Fi interference source search and annotation information function
C. Obstacle attenuation test and report generation

D. RF signal collection and mapping of obstacles and obstacles

E. Addition of switches and drawing of room components

F. Scale setting and floor property settings

Correct Answer: ABCEF

QUESTION 2

With the 7dBi antenna, the exit power of the two antennas (regardless of the feeder and interface losses) are?
A. 25dBm, 32dBm

B. 26.5dBm, 26.5dBm

C. 28dBm, 32dBm

D. 26.5dBm, 30.5dBm

Correct Answer: D

QUESTION 3
What is wrong about the Fresnel region?
A. The Fresnel zone of the radio beam is an ellipsoidal region that surrounds the visible line of sight directly.

B. The antenna installation position should ensure that the two nodes of the link are visible, and try to ensure that there
is no obstruction in the Fresnel zone.

C. Two nodes of the site link are visible, and the Fresnel zone boundary is blocked, which will not affect the link
transmission effect.

D. The distance between the stations is 2 kilometers, and the radius of the Fresnel area is about 6 meters.

Correct Answer: C

QUESTION 4
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Which of the following is the highest security strength of the encryption algorithm?
A. WEP

B. TKIP

C.CCMP

D. DES

Correct Answer: C

QUESTION 5

Which of the following options is not a PoE term?
A. PSE

B. PD

C.PI

D. POU

Correct Answer: D
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